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1) The branch of biology, which involves the study of immune systems in all organisms is called_________.

(a) Zoology

(b) Microbiology

(c) Immunology

(d) Biotechnology

2) Which of the following immunity is obtained during a lifetime?

(a) Acquired immunity

(b) Active immunity

(c) Passive immunity

(d) None of the above.

3) How many types of antibodies are there?

(a) Five.

(b) Three.

(c) Two.

(d) Four.

4) Which of the following cells is involved in cell-mediated immunity?

(a) Leukaemia

(b) T cells

(c) Mast cells

(d) Thrombocytes

5) Which of the following protects our body against disease-causing pathogens?

(a) Respiratory system

(b) Immune system

(c) Digestive system

(d) Respiratory system

6) Hepatitis is an example of _______.

(a) Subunit Vaccine

(b) Killer Vaccine

(c) Toxoids Vaccine

(d) Recombinant Vaccine

7) Which of the following statements is true about the IgM of humans?

(a) IgM can cross the placenta

(b) IgM can protect the mucosal surface

(c) IgM is produced by high-affinity plasma cells

(d) IgM is primarily restricted in the circulation

8) Interferons are

(a) Cytokine barriers

(b) Physical barriers

(c) Cellular barriers

(d) Physiological barriers

9) Which of the following cells of the immune system do not perform phagocytosis?

(a) Macrophage

(b) Neutrophil

(c) Eosinophil

(d) Basophil

10) Monocytes differentiate into which kind of phagocytic cells?

(a) Neutrophil

(b) B cell

(c) Macrophage

(d) T cell

11. Which of the following cells would be considered differentiated?
a) Blastomere
b) Spemann organizer
c) Myotome of the somite
d) Muscle cell

12. Which of the following statements is true about the IgM of humans?
(a) IgM can cross the placenta

(b) IgM can protect the mucosal surface

(c) IgM is produced by high-affinity plasma cells

(d) IgM is primarily restricted in the circulation
13. What is the role of stem cells with regard to the function of adult tissues and organs?
a) Stem cells are undifferentiated cells that divide asymmetrically, giving rise to one daughter that remains a stem cell and one daughter that will differentiate to replace damaged and worn out cells in the adult tissue or organ.
b) Stem cells are embryonic cells that persist in the adult, and can give rise to all of the cell types in the body.
c) Stem cells are determined cells that reside in fully differentiated tissues and can, when needed, differentiate to supply new cells for growth of the tissue.
d) Stem cells are differentiated cells that have yet to express the genes and proteins characteristic of their differentiated state, and do so when needed for repair of tissues and organs.

14. What is the name of MHC in humans? 

a) HLA
b) H2
c) Adjuvants
d) Haplotype
15 The cells that display peptides associated with class II MHC molecules to CD4+ Th cells are called antigen presentation cells. Which of the following is not professional antigen-presenting cells 

a) Dendritic cells
b) Macrophages
c) B cells
d) Fibroblast
16. In B cell, the receptor that mediates the endocytosis of antigen is
a) MHC-II molecule

b) Membrane-bound antibody

c) CD41 antigen

d) CD20 antigen
17 Which of the following immunity is obtained during a lifetime?
(a) Acquired immunity

(b) Active immunity

(c) Passive immunity

(d) None of the above.
18. CD1 is mainly involved in the presentation of …………………….. and activation of T cells
a) Peptides

b) Lipopolysaccharides 

c) Both

d) None
19. Which of the following is true for the antigenic peptide that is presented via MHC class I and MHC class II?
a)They are non-covalently but stably bound to MHC

b) They are covalently bound to the MHC

c) The antigen peptide dissociate from MHC once it reaches the cell surface
d) The antigen can be replaced by other peptides on the cell membrane
20. Before loading of an antigenic peptide, MHC molecules exist in
a) monomers of α and β chain

b) dimers with an empty peptide-binding site 

c) Trimers with peptide binding site with class II-associated invariant peptide
d) None of the above
21. In what way are mrf4, myoD, and the other muscle-inducing genes similar to the homeotic genes of Drosophila?
a) mrf4, myoD, and the others encode homeobox- containing proteins.
b) mrf4, myoD, and the others encode "master-switch" transcription factors, which initiate a cascade of gene expression that leads to the differentiation of cells.
c) mrf4, myoD, and the others act as homeotic genes in Drosophila
d) mrf4, myoD, and the others are expressed exclusively in muscle, as are the homeotic genes of Drosophila.

22. What important lesson for the mechanisms of development can we derive from the ability to clone frogs by nuclear transfer?
a) that the selective gene expression seen in differentiated cells does not result from an irreversible loss of genes, or their potential for expression
b) that a piece of a frog can be "planted" to obtain a new, cloned individual, just like in plants
c) that the pattern of gene expression in a differentiated cell can only be reversed if the nucleus is removed from the cell
d) that the mechanisms of development are irreversible in all organisms except frogs

23. Recently, it was reported that adult, differentiated cells can be made to behave as pluripotent stem cells by the introduction of a few genes, one of which was Oct4. What was the rationale for this experiment?
a) Oct4 is a master switch gene that turns on the stem cell program.
b) Oct4 expression is one of the requisites for the maintenance of pluripotent embryonic stem cells in culture.
c) the Oct4 gene produces a cell-cell signaling protein that is used by stem cells to stimulate cell division
d) Oct4 is only expressed in embryonic stem cells, and so its expression automatically reverses any differentiation that may have gone on in a cell

24. Which one of the following genes was NOT part of transcription factors used to generate induced pluripotent stem (iPS) cells from mouse skin fibroblasts?
a) Oct4
b) Sox2
c) c-jun
d) Kfl4

25. What is the major concern of using retroviral vectors to deliver or activate pluripotent genes?
a) Not very efficient and needs repeated transfections
b) Plasmid diluted as iPS cells divide
c) Vector and transgenes remain in the genome and can be reactivated in differentiated cells
d) The vector integrates but is excised by the transposase
 26. Naturally acquired active immunity would be most likely acquired through which of the following processes?

a. vaccination

b. drinking colostrum

c. natural birth

d. infection with disease causing organism followed by recovery.
27. Which of the following convey the longest lasting immunity to an infectious agent?

a. Naturally acquired passive immunity

b. Artificially acquired passive immunity

c. Naturally acquired active immunity

d. All of these

28. Which of the following substances will not stimulate an immune response unless they are bound to a larger molecule?

a. Antigen

b. Virus

c. Hapten

d. Miligen

29. B and T cells are produced by stem cells that are formed in:

a. Bone marrow

b. The liver

c. The circulatory system

d. The spleen

30. B cells mature in the……….. while T cells mature in the

a. Thymus/bone marrow and gut associated lymphoid tissue (GALT)

b. Spleen/bone marrow and GALT

c. Bone marrow and GALT/Thymus

d. Liver/Kidneys

31. Which of the following immune cells/molecules are most effective at destroying intracellular pathogens?

a. T helper cells

b. B cells

c. T cytolytic cells
d. Complement

32. A living microbe with reduced virulence that is used for vaccination is considered:

a. A toxoid

b. Dormant

c. Virulent

d. Attenuated
33. B cells that produce and release large amounts of antibody are called:

a. Memory cells

b. Basophils

c. Plasma cells

d. Killer cells

34. The specificity of an antibody is due to

a. its valence

b. The heavy chains

c. The Fc portion of the molecule

d. The variable portion of the heavy and light chain

35. In agglutination reactions, the antigen is a………

in precipitation reactions, the antigen is a……………

a. whole cell/soluble molecule

b. Soluble molecule/whole cell

c. Bacterium/virus

d. Protein/carbohydrates

36. B Cells are activated by

a. Complement

b. Antibody

c. Antigen
d. Memory cells

37. Fusion between a plasma cell and a tumor cell creates a

a. Myeloma

b. Natural killer cell

c. Lymphoblast

d. Hybridoma

38. Monoclonal antibodies recognize a single:

a. Antigen

b. Bacterium

c. Epitope

d. B cell

39. Cell mediated immunity is carried out by………….. while humoral immunity is mainly carried out by………………..

a. B cells/T cells

b. Epitopes/Antigens

c. T cells/B cells

d. Antibodies/Antigens

40. The ability of the immune system to recognize self antigens versus nonself antigen is an example of:

a. Specific immunity

b. Tolerance

c. Cell mediated immunity

d. Antigenic immunity

41. The ability of an organism to resist infections by the pathogens is called___________

a) Infection

b) Hypersensitivity

c) Immunity

d) Allergy

42. Innate immunity present since birth and it has no memory.

a) True

b) False

43. Which of the following compounds is NOT found in tears?

a) Lysozyme

b) Lactoferin

c) IgA

d) IgE
44. Name the cytokines which released in response to virus infection?

a) Interferons

b) Monokines

c) Lymphokines

d) Interleukins

45. Name the group of pattern recognition molecules which functions exclusively as a signaling receptor?

a) CRP

b) Toll-like receptor

c) MBL

d) LPS

46. Name the first cell which recruited at the place of infection.

a) Nk cells

b) Basophils

c) Nutrophils

d) Macrophages

47. Name the nerve stimulator which is responsible for the pain of the inflammation.

a) Bradikinins

b) Prostaglandin

c) Histamines

d) Kinins
48. Which of the following is NOT the characteristics of a good antigen.

a) Large in size

b) Foreignness

c) Highly complex

d) Reproduce only by binary fission
49. Which of the following antibody gives a primary immune reaction?

a) IgG

b) IgM

c) IgA

d) IgE

50. Which of these is NOT a characteristic feature of adaptive immunity?

a) Immunogenic memory

b) Antigen no-specific

c) Self/ non-self recognition

d) Diversity
51. The activation of B cells is most efficient when
a) They are cross linked with mitogenic antigens such as LPS
b) They receive activation signals from macrophages via CD40 ligand
c) They receive activation signals from T cells via CD40 ligand
d) They respond to bacterial polysaccharides derived from the capsules of pathogenic bacteria
52. Which cytokine is NOT involved in B cell development and function

a) IL-2

b) IL-21
c) GM-CSF

d) IL-4
53. Helper T cells are usually

a) CD4+

b)  CD8+
c) CD1 restricted

d) CD4-/CD8- (i.e. double negative)
54. Which of the tracing is NOT the role of T-cell receptor complex?
a) α and β chain
b) CD3
c) CD19
d) CD40L
55. Coreceptor CD3 is used to bind antigen.
a) True
b) False
56. Which of the following steps is NOT involved in the activation of T-cell?
a) Double positive cell converts to single positive T-cell
b) Foreign peptide bound to MHC provide signals
c) CD28 of TCR interacts with B7 of APC
d) CD23 has ITAM, which transducer signals
57. Name the cytokines which act as a T-cell growth factor?
a) IL-3
b) IL-2
c) IL-4
d) IL-5
58. Cytokinin which acts as a growth factor of B-cell is________
a) IFNγ
b) IL-10
c) IL-13
d) TNFβ
59. Mark the correct role of cytosolic T-cells.
a) Help in B-cell activation
b) Produce cytotoxin
c) Proliferate T-cell
d) Kill the target cell
60. Name the major constituents of cytotoxic T-lymphocyte?
a) Lysozyme
b) Lymph
c) Protein
d) Perforin and granzyme
61. Which of the following is the type of cell largely responsible for type I hypersensitivity responses?

A. erythrocyte

B. mast cell

C. T lymphocyte

D. Antibody
62.  Immune disorders include

 a) hypersensitivity 

b) auto-immune diseases 

c) immunodeficiency 

d) all of these 

63.  The inappropriate response of immune system towards a relatively harmless antigen causing harm to the host is referred as 

a) hypersensitivity 

b) auto-immune diseases 

c) immunodeficiency 

d) tolerance 

64. Which of the following Ig is involved in mediating allergic reactions 

a) IgG 

b) IgM 

c) IgE 

d) IgA

 65. The major chemical messenger involved in hypersensitivity is

 a) interleukines 

b) lymphokines 

c) hiatamines 

d) interferons 

66. Which of the following types of hypersensitive reactions is antibody mediated 

a) Type I

 b) Type II 

c) Type III 

d) all of these 

67. Which one of the following is a cell mediated hypersensitive reaction 

a) Type I 

b) Type II 

c) Type III 

d) Type IV 

68. The inability to distinguish between self-cells and non-self-cells may lead to

 a) hypersensitivity 

b) auto-immune diseases 

c) immunodeficiency 

d) tolerance 

69. Majority of auto immune diseases are 

a) cell mediated 

b) antibody mediated 

c) macrophage mediated 

d)mast cells mediated 

70. All of the following are autoimmune disorders except 

a) Graves disease

 b) SCID 

c) Rheumatoid arthritis 

d) Addison’s disease

 71. Rheumatoid arthritis mostly occur in individuals carrying 

a) HLA-DR4 gene (HLA-human leucocyte antigen) 

b) HLA-DR1 gene 

c) HLA-DR3 gene 

d)all of the above

 72. Some defects or mutations in components of innate or adaptive immunity may lead to 

a) hypersensitivity 

b) auto-immune diseases 

c) immunodeficiency 

d) tolerance 

73. In severe combined immune deficiency (SCID), the patients are deficient in 

a) B cells

 b) T cells 

c) both a and b 

d) IgA 

74. SCID can occur due to the absence of an enzyme

 a) adenosine deaminase 

b) guanosine deaminase 

c) phosphorylase 

d) thymidine deaminase 

75. HIV attacks 

a) T helper cells 

b) T cytotoxic cells 

c) B cells 

d) macrophages 

76. All of the following are immunodeficiency diseases except

 a) Graves disease

 b) SCID 

c) DiGeorge’s syndrome 

d) Hyper IgM syndrome

77. Which hypersensitivity reactions are T cell mediated?
a. Type I
b. Type II
c. Type III  
d. Type IV

78. Type II hypersensitivity is due to:
a. IgE
b. Activation of cytotoxic T cells
c. Mismatched blood types in transfusion
d. IgM
79. A transplant between individuals of different animal species is termed as:
a. allograft
b. xenograft
c. enterograft
d. endograft
80. Which of the following is considered an autoimmune disease?
a. rheumatoid arthritis
b. AIDS
c. SCID
d. agammaglobulinemia
81. Which of the following confirmed values meet the diagnostic threshold for diabetes?

a) fasting blood glucose ? 140 mg/dl

b)  random glucose > 160 mg/dl
c) 2 hour post prandial glucose ≥ to 126 mg/dl

d) fasting blood glucose ≥ 126 mg/dl
82. The risk factors for type 2 diabetes mellitus include:

a) family history

b) being overweight
c) high intake of dietary fat

d) All of the options listed are correct
83.  The process of removal and replacement of damaged tissues or organs with healthy ones from a donor is called as 

a) transplantation 

b) replacement therapy

 c) repair and replacement 

d) none of these 

84. The transfer of individuals own tissue to another part of the body is called 

a) autograft 

b) xenograft 

c) allograft 

d) syngeneic graft 

85. The transfer of tissue between genetically identical individuals (like twins) is called 

a) autograft 

b) xenograft 

c) allograft 

d) syngeneic graft

86. The transfer of tissue between individuals of different species is called

 a) autograft 

b) xenograft

 c) allograft 

d) syngeneic graft 

87. The transfer of tissue between genetically different individuals of same species is called 

a) autograft 

b) xenograft 

c) allograft 

d) syngeneic graft

88. Which of the following has the maximum transplantation success rate

 a) autograft

 b) xenograft 

c) allograft 

d) syngeneic graft

89. The major molecules responsible for rejection of transplant is 

a)B cells 

b) T cells 

c) MHC molecule

 d) antibodies 

90. Genes encoding cell surface glycoproteins that are required for antigen presentation to T cells and also responsible for rapid graft rejection is called as 

a) MHC complex

 b) B cell complex

 c) T cell complex 

d)none of these 
91. Which of the following statements are true regarding transplantation 

a) The compatibility of MHC proteins of donor and recipient will determine the success of transplantation 

b) MHCs are just like fingerprints and all nucleated cells possess this fingerprint 

c) The compatibility of MHC/HLA proteins of donor and recipient will be high if they are genetically closely related and may lead to successful transplantation. 

d) all of these

 92. In humans, MHC is called as 

a) human MHC 

b) Homo MHC 

c) Human leucocyte antigen (HLA) 

d) all of the above 

93. The genes for HLA proteins are clustered in the major histocompatibility complex located CHROMOSOME 6 

a) on the short arm of chromosome 6 

b) on the long arm of chromosome 6 

c) on the short arm of chromosome10 

d) on the long arm of chromosome 10 

94. The test that is done prior to transplantation surgery to determine the compatibility of MHC proteins between donar and recipient is called 

a) MHC matching 

b) MHC typing 

c) tissue typing 

d) blood HLA test 

95. Cyclosporine is an immunosuppressive drug given to avoid transplant rejection which acts by

 a) inhibition of T cells 

b) inhibition of B cells 

c) inhibition of immune system 

d) inhibition of complement system 

96.MHC class I is a cell surface molecule present on MHC 

a) B cells

 b) all nucleated cells

 c) APCs 

d) T cells

97. MHC class II is a cell surface molecule present on 

a) B cells 

b) all nucleated cells

 c) APCs 

d) T cells 
98. An example of a known oncogenic virus is:
A  Herpes zoster.

 B  HIV-2.

 C  Epstein-Barr virus.

 D  Vesicular stomatitis virus.
99. How many types of antibodies are there?
(a) Five.

(b) Three.

(c) Two.

(d) Four.
100. Which of the following cells is involved in cell-mediated immunity?
(a) Leukaemia

(b) T cells

(c) Mast cells

(d) Thrombocytes
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